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Cluster: 0249 ptr; resid: 0.32; r/c: 31/82

x.range

upstream meme PSSM #1; e=2.9e+04

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=8e+05

1 3 5 7 9 11 131 3 5 7 9 11 13
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2291928620

42832

46133

10284

11674
13445

19835

24474

24662

24886

25331

33639

34775
35061

39868

42910

43097

43179

43373
43451

43537

44930

45777

45987

46146

46460

48464

49038

54323

54642

string −500 −400 −300 −200 −100 −1
24662NA
46133−0.02
45987−0.03
42910−0.11
43179−0.11
43451−0.14
24474−0.16
46460−0.20
49038−0.23
46146−0.24
44930−0.40
11674−0.46
35061−0.49
34775−0.55
33639−0.57
25331−0.59
54323−0.61
13445−0.62
28620−0.66
43373−0.69
24886−0.85
10284−3.11
19835−3.49
22919−3.94
39868−4.12
42832−4.46
48464−5.13
54642−5.36
43097−6.11
45777−8.34
43537−9.23

log10(P) upstream meme1 2 log10(P.clust)=−2.03; 31 seqs; 31 uniq
c(0.5, 2.5)
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